2. MIPAS Daily Report for level 2 products summary report

(See mipas_daily_report_level2_ ML2PP_7_03_W_20051125.html for a detailed report).

2.1. General Info

¢ 2.1.1 Report summary
¢ 2.1.2 Summary per product

2.2 Processing performance indicators

e 2.2.1 Successful retrievals

e 2.2.2 Pressure overview

e 2.2.3 Temperature overview

¢ 2.2.4 Species overview

¢ 2.2.5 History of daily averages

2.1 General Info

This report contains a daily analysis on parameters extracted from MIPAS level 2 data (The MIP_NL__ 2P product).

2.1.1 Report summary

The table below shows general characteristics of the data that are included into this report.

Item Value

Report version

v1.11 26-05-2015

Time of report generation

20APR2016 17:00:15

Data source version

ML2PP/7.03-W

Processing scope for products

25N0OV2005 00:00:00 to 26NOV2005 00:00:00

Start time of first product within scope

25N0OV2005 00:10:18

Stop time of last product within scope

26NOV2005 01:10:44

Total number of level 2 products 5

Number of level 2 products with errors |0

2.1.2 Summary per product

The following table shows a summary for each product used in this report.

Product name

Start time

Stop time

Prod err

Number of scans (tot/proc)

Quality summary warnings

#

0|MIP_NL__2PWDSI20051125_001018_000057722042_00446_19538_1000.N1 | 25NOV2005 00:10:18 | 25NOV2005 01:46:30 |0 127/127

1[MIP_NL__2PWDSI20051125_014720_000005202042_00447_19539_1000.N1 |25NOV2005 01:47:20 | 25NOV2005 01:56:00 |0 12/12

2|MIP_NL__ 2PWDSI20051125 115429 000057812042_00453_19545_1000.N1 |25NOV2005 11:54:29 | 25NOV2005 13:30:50 |0 109/109 VMR_TERM_MACRO_MICRO[HCN/macro:1; HCN/micro:2; F14/micro:1]
3[MIP_NL__2PWDSI20051125 133141 000004762042 00454 19546_1000.N1|25NOV2005 13:31:41 | 25NOV2005 13:39:37 |0 11/11

4|MIP_NL__2PWDSI20051125_233840_000055232042_00460_19552_1000.N1 | 25NOV2005 23:38:40 | 26NOV2005 01:10:44 |0 122/122 VMR_TERM_MACRO_MICRO[HCN/macro:2; F14/macro:1]

2.2 Processing performance indicators

2.2.1 Successful retrievals

This section includes a table with statistics on the number of retrievals, as well as a worldmap plot that shows successful retrievals.

RETRIEVAL MDS |# scans processed |# Successful retrievals| %

PT 381 287 75.328
H20 381 287 75.328
03 381 287 75.328
HNO3 381 287 75.328
CH4 381 287 75.328




N20 381 287 75.328
NO2 381 287 75.328
F11 381 287 75.328
CLNO 381 287 75.328
N205 381 287 75.328
F12 381 287 75.328
COF2 381 287 75.328
CCL4 381 287 75.328
HCN 381 287 75.328
F14 381 287 75.328
F22 381 287 75.328

Mumber of succassful retrievals vs. geolocotion {#+=day side , triangle=night side}.
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2.2.2 Pressure overview

This section shows values (left) and error (right) for pressure after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.3 Temperature overview

This section shows values (left) and error (right) for temperature after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4 Species overview

2.2.4.1 H20 overview This section shows values (left) and error (right) for H20 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.2 O3 overview This section shows values (left) and error (right) for O3 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.3 HNO3 overview This section shows values (left) and error (right) for HNO3 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.4 CH4 overview This section shows values (left) and error (right) for CH4 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.5 N20 overview This section shows values (left) and error (right) for N20 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.6 NO2 overview This section shows values (left) and error (right) for NO2 after binning individual sweep values over retrieved altitude and Sun Elevation Angle. Note that for NO2 the bin heights are 8 km.
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shows values (left) and error (right) for F11 after binning individual sweep values over retrieved altitude and tangent latitude.
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) TR NP TP PE TP PR

: , : , : i | =90 ta —80 deg
e ; ; L| [43—80 to —B5 deg
; : ; i ; i —B5 to —20 dag
[3-E1-20 ta 20 deg
20 to &5 deg
64 to 30 deg
80 to 90 deg

Caily averaga [ase title]

0.2

0.0

O 0,00 (010,00 000,00 000,00 G000, A1) Q0:00.00 (05061,
57 /08,2005 11,708 /2005 26,08 /2005 1,/10,/2008 26,/10,/2005 10/11,/2005 25/11,/2005

Tirn= [El’tu:lrt of dﬂ}"]




HCM wmr [pprav] for pressure 100.9 hPa

1.0 '
= (a0 ta —50 deg
Ok [4——B0 ta —B5 deg
A —B5 to —20 deg
m [F-E1-20 ta 20 deg
£ 20 to 85 dag
E ............................ Dot ee ittt ssse s s s s s s s s s s anaaaa s an s e s Lttt eesesnsssssssssssasnssapansssssasnssassnsnsssssnssasbin it ittt i i i ity _EE tD E:I dEE
SRk : : : &0 to 90 deg
&

0.2

0.8 :

Oz 2, A0 000,00 GHERE AN 000000 00, 00 D0 D0 00 000,00
37 f08,/ 5005 11/08 /2005 26,08 /3005 11,710,/ 2005 26,/10,/2005 10411 /2008 25711 /2005

Timz [atart of day]
F14 vir [ppmv] far pressure 100.0 hPa
1.0 : : :
b ............................. ............................ oo ............................

H—+—0C to —E0 deg
[ —BC to —E& deg
—85 1o 210 deg
BE1—-20 to 20 deg
20 to &5 deg
64 to 30 deg
B0 to 90 deq

[
>

22
.

Caily averaga [ase title]

0.2
R+ ] H 0 H ! H
O 0,00 (010,00 000,00 000,00 G000, A1) Q0:00.00 (05061,
57 /08,2005 11,708 /2005 26,08 /2005 1,/10,/2008 26,/10,/2005 10/11,/2005 25/11,/2005

Tirn= [El’tu:lrt of dﬂ}"]



F22 vmr [pprrv] for pressure 100.0 hPa

1.0 '
= (a0 ta —50 deg
Ok [4——B0 ta —B5 deg
A —B5 to —20 deg
m [3-E1-20 ta 20 deg
£ 20 to 85 dag
E ............................ Dot ee ittt ssse s s s s s s s s s s anaaaa s an s e s Lttt eesesnsssssssssssasnssapansssssasnssassnsnsssssnssasbin it ittt i i i ity _EE tn E:I dEE
SRk : : : &0 to 90 deg
a

0.2

0.8 :

Oz 2, A0 000,00 GHERE AN 000000 00, 00 D0 D0 00 000,00
57 /0875005 11,/08 /2005 26,/08 73005 11,/10,/2005 26/10 /2005 10,411 75005 25 /11 /2005

Timz [atart of day]
Temperature [K] for pressure 10,0 RPa
260 : ; :

25C

5

H—+—9C to —80 deg
[#—#—BC to —B5 deg

230 —B5 to —20 deg
FE1-20 to 20 deg
20 to &5 deg
320 —65 to 30 deq
B0 to 90 deg

Gaily averaga [ase titla]

]
By
[

205

190

[N A A A 04,00 D000, 00 a0 0000 Q000,00 000000 ;00,00
27 /08,3005 11,/08 /2005 26,/08,/3005 11,/10,/2005 26,/10,/2005 10711 /2008 25 /11 /2005
Timz [atart of day]



Tangant altitude [km] for pressure 10.0 hPa

33

T H—+—00 tn —B0 deg

T [ —B0 to —65 dag

B, ——85 ta —20 deg

v [FH-E1-20 ta 20 deg

o 20 to &5 deq

5 65 to 80 dag
30

= B0 to 90 deg

Z

28

00 00,00 04,00 D000, 00 a0 :00.00 Q000,00 Q000,00 00,00
57 /08,5005 11,708 /2005 26,/08 /2005 11,/710,/2005 26,/10,/2005 10/11,/2005 25 /11 /2005
Time= [atart of day]

H2O wrnr [ppry] far pressure 19.0 hPa

7.5 : i

7.0

6.5 gt e
% i : H—+—00 ta —E0 deg
E : : B0 tn —B5 deg
E‘ B.0 ; =5 to =20 deg
o : : [F-E1—20 ta 20 deg
(=2} J '
5 : b W 20 to 85 deg
5 55 LT i o s T TODRL 65 to A0 deg
= .. B0 to 00 deg
a : :

5.0 !

o R s B oo i s o Bl g

: d : EE H e 3l

4.0 ; i i

ML A O 00,00 Q000,00 00 ;00,00 0000, 00 O 00,00 Q% 00,00
57 A8 /5005 11,/08 /2008 26 /08 73005 11,710,/ 2008 26,/10 /2005 10411 75005 25 /11 /3005

Tirz [atart of dayv]



Caily average [zee title]

12

03 vmr [ppmy] for pressure 1000 hPa

=]

o

Caily avaraga [Eee t'ltla]

: : _ i | fF——ao0 ta —=0 deg
e W LLAED Besy whesed.| PEX-B0 ta —BS deg
; : | fe—B8 to —20 deg
[G-E-20 ta 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg

2

000,00

DO500,00 (¢: 00,00 O0:00,00 000,00 (500,00 0 000,00
57 F08 /5005 11,708 /20605 26,08 /3005 11 /10,2005 26,/10,/2005 10,/11,/2008 25,11 /2005

0,009

C.008

o.007

.008

005

D.004

o005

O.002

Time= [atart of day]

HMO3 wmr [ppry] for pressure 10.0 hPa

H—+—0C ta —E0 deg
[+ —B0C to —B5 deg
=05 to =20 deg
EE1—2C to 20 deg

20 to &5 deg

B4 to 30 deg

B0 to 90 deg

O0L0G

00500, 0¢: 00,00 DO:00.00 000,50 (500,00 00:00.0 000,00
57 08 /5005 11,708 /2005 26,08 /3005 11 /10,2005 26,/10,/5005 10,/11 /2008 25,711 /2005

Tirz [atart of dayv]




CH4 wmr [ppmy] for pressure 10.0 hPa

1.6 . .
e e e Bag e e
1.4 i : EiFE‘
L R e R PP i. ..................................................................................................................

'g' L H—+—90 ta —E80 deg

i i : oy V| B0 tn —B5 dag
: 2 U e ; :

B, 1 F ey 3 . S | -85 to —20 deg
o : : | BE-20 ta 20 deg
m ' f h
2 L 20 to 85 deq
E |:|1E_ ......................................................... .i ......................................................... Bre i e E. ............................ E _Eﬁ tl:i EI:I I:'EE
= f /& i : E0 to 90 deg
=] s H
(] Heoes :

o _“X‘W-

[ B A R R R R R R R R R e e O e R E ........................................................ .-:

0.2 :

Oz 2, 240 000,00 D=0, 00 000050 Qo:00, 00 Q0 S0 00 0 00,00

37 A8/ 5005 11,/08 /2005 26 /08 73005 1,710,/2005 2610 /2005 1011 75005 25 /11 /2005
Time= [atart of day]
M2 vrnr [ppryv] far pressure 19.0 hPa
0.20 : ; : ;
5 | P2 P Sompmg

D5 |- mmmmmmmm e e e e e e A L 3 - S — .l -------------------------------------------------------- ad

Cally oiverage [see tltla]
[m}
o

H—+—00C to —E0 deg
[+ —BC to —B5 deg
=05 to =20 deg
FE1-2C to 20 deg
20 to &5 deg
B4 to 30 deg
B0 to 00 deq

0,05
DL0 :
D000, 0¢: 00,00 HO:00.00 000,50 (500,00 O0:00.00 000,00
57 08 /5005 11,708 /2005 26,08 /3005 11 /10,2005 26,/10,/5005 10,/11 /2008 25,711 /2005

Tirz [atart of dayv]




Caily average [see title]

Caily average [zee title]

MNOZ wmr, sun elev==0 [ppmy] for pressure 10.0 hPa
0,008 ; : ;

C.007

0,008

©.0035

o004

D.003%

o002

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deq
EE1—2C to 20 deg
20 to &5 deq
&5 to 80 deg

B0 to 00 deg

0,001 :
Oz 2, 240 000,00 D=0, 00 000050 Qo:00, 00 Q0 S0 00 0 00,00
37 A8/ 5005 11,/08 /2005 26 /08 73005 1,710,/2005 2610 /2005 1011 75005 25 /11 /2005
Time= [atart of day]
MOZ wmr, sun elev<=0 [ppmy] for pressure 10,0 RPa
8,012 ; ; ;
D018
H——00 to —E0 deg
£, 008 [+ —B0C to —B5 deg
=05 to =20 deg
[F-E1-2C to 20 deg
20 to &5 deg
B4 to 30 deg
REae B0 to 00 deg
5 : 5 : Fa o e
.00 ; | ; | ; o)
o002 :
00z 2, 240 000,00 D000 000000 O8:00, 00 Q0 0L O 000,00
57 A8 /5005 11,/08 /2008 26 /08 73005 11,710,/ 2008 26,/10 /2005 10411 75005 25 /11 /3005

Tirz [atart of dayv]



35x10™"

A0x1o07?

2.5x1078

1

Caily overage [see title]

1

5.0x107"

Daily averaga [ase titla]

2.0%1078

&x107d

J0x1078

F11 vmr [ppmy] far pressure 10.0 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
——05 to —20 deg
EHE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg

o

00 00,00 04,00 D000, 00 a0 :00.00 Q000,00 Q000,00 00,00
57 /08,5005 11,708 /2005 26,/08 /2005 11,/710,/2005 26,/10,/2005 10/11,/2005 25 /11 /2005
Time= [atart of day]

CLMO vmr [ppmy] faor pressure 10.0 RPa
08012 : : :

00010

0, 0008

00008

H——0C to —E0 deg
[+ —B0C to —B5 deg
=05 to =20 deg
EE1—2C to 20 deg

20 to &5 deg

B4 to 30 deg

B0 to 90 deg

0,000

00002

00 30L G 00,00 D000, 00 a0 :D0.50 Q500,00 003000 Q00,00
57 /0875005 11,708 /2005 26,468 /9005 11,/710,/2005 26,/10,/2005 10/11,/2008 25 /11 /2005
Tirz [atart of dayv]




Caily overage [see title]

MZDE vmr [pprmy] for pressure 10.0 hPa

Time= [atart of day]

00025

00028
& [——a0 to —50 deg
~ 0.0015 B0 ta —BS deg
B, —4—85 ta —20 deg
- [F-E1-20 to 20 deg
(=r]
o 20 to &5 deq
& 5 to A0 deg
= 05010 : B0 to 90 deg
a :

0.0005 :

%o |
00008 +t
ML A O 00,00 Q000,00 000000 0000, 00 Q000,00 QG 000
57 /0875005 11/08 /2005 26,708 79005 11,710,/ 2005 26/10,/2005 10,/11 /3008 25 /11,/2005

F12 vmr [ppmy] far pressure 10.0 hPa

I 5 EEEEEBEHEBE&BE@BEEEEE

20107

H——0C to —E0 deg
[+ —B0C to —B5 deg

1.5=107

101074

=05 to =20 deg

FE1-2C to 20 deg
20 to &5 deg

B4 to 30 deg
B0 to 00 deq

E.0=1078

Ay g

o

00 30L G 00,00 D000, 00 a0 :D0.50 Q500,00
57 /0875005 11,708 /2005 26,468 /9005 11,/710,/2005 26,/10,/2005
Tirz [atart of dayv]

O0:00.00 000,00
10,/11 /2008 25,711 /2005



COFZ wmr [pprv] for pressure 10.0 hPa

Tirn= [El’tu:lrt of dﬂ}"]

35107 5
z.0x10™
T 25%107 [——oC ta —50 deg
: : [ —B0 tn —BS deg
2 : —4—B5 to —20 deg
5 Gnqt ; .| [FE-20 ta 20 deg
s : 20 to 85 deg
: : t | 68 ta 80 deg
= : &0 to 90 deq
1 e e L - L e . e e bonscrnscnntddionnnenr e
T e b Sttt bbbt - o5 1 R R I
LB v H
Oz 2, A0 000,00 GHERE AN 000000 00, 00 D0 D0 00 000,00
37 f08,/ 5005 11/08 /2005 26,08 /3005 11,710,/ 2005 26,/10,/2005 10411 /2008 25711 /2005
Timz [atart of day]
CCL4 vmr [pprev] far pressure 19.0 hRa
R v : ; :
1.5%107
Z 100197 (o0 ta —B0 deg
o e B0 tn —B5 deg
B, B8 tg —20 deg
o B.0x10" [F-E1-20 ta 20 deg
s 20 to 85 deg
z 65 to 80 dag
= B0 to 90 deq
a o
—Enx10"
b - ; - ; - :
oz S, 20 00 00,00 D000 000000 O:00, 00 LRI 0 0,00
27 /08,2005 11708 /2005 26,/08 /2005 11,710,/ 2005 26,/10,/2005 10711 /2005 2511 /2005




HCH wrr [pprov] for pressure 10.0 hPa

1.8 ;
T H—+—00 ta B0 deg
Ok [4——B0 ta —B5 deg
A —B5 to —20 deg
m [F-E1-20 ta 20 deg
£ 20 to 85 dag
E ................................................................................................................. T T L _Eﬁ tn EG dEE
SRk ' ; : &0 to 90 deg
&

0.2

0.8 i

Oz 2, A0 000,00 GHERE AN 000000 00, 00 D0 D0 00 000,00
37 f08,/ 5005 11/08 /2005 26,08 /3005 11,710,/ 2005 26,/10,/2005 10411 /2008 25711 /2005

Timz [atart of day]
F14 vmr [ppmy] far pressure 10.0 hPa
1.0 T : r
B o ............................ o ............................

H—+—0C to —E0 deg
[ —BC to —E& deg
—85 1o 210 deg
BE1—-20 to 20 deg
20 to &5 deg
64 to 30 deg
B0 to 90 deq

[
>

22
.

Caily averaga [ase title]

0.2

L : : : : : :

(TR A 00 0,00 DD, 00 (000,00 (000, 00 000,00 000,00
27 /082005 11,09 /2005 26,/09 /2005 11,10/ 2005 28,/10,/2005 10,11 /2005 25,/11 /2008

Tirn= [El’tu:lrt of dﬂ}"]



F22 vmr [ppmy] far pressure 10.0 hPa

18107

18107

1.4x107
z ” (a0 ta —50 deg
T2l 80 to —B5 deg
2 4—B5 to —20 deg
= 1.ox1e™ [G-E1—20 to 20 deg
= 20 to &5 deg
: ——E5 to 30 dag
= Box1o™ B0 to 90 deq
&

B.0x107

4.0%1077

20x10™ H

O 1, 00 08 a0, 00 RS EAN Y 000,00 800, 00 Q000,00 000,00
37 /08 /5005 11,708 /2005 26,408 /2005 11,719,/ 2005 26,/10,/2005 10,11 /5005 25,/11 /2005

Timz [atart of day]

Temperature [K] for pressure 1.0 hPa

J0G

290

280
T F——20 ta —E0 deg
R 80 to —B5 deg
A, 4—B5 to —20 deg
B [5-E1-20 ta 20 deg
=2 20 to &5 deg
& ——E5 to 30 dag
= 250 B0 to 00 deg
a

245

230

220 .

[N A A A 04,00 D000, 00 a0 0000 Q000,00 000000 ;00,00
27 /08,5005 11,/08,/2005 26,/08,/2005 11,/10,/2005 26,/10,/2005 10711 /3008 25,711 /2005

Timz [atart of day]



Tangent altitude [km] for pressure 1.0 hPa
o0 i X H

4d

48
£} [——a0 to —50 deg
- %80 to —B5 deg
5 e —4—85 ta —20 deg
% 36120 ta 20 deg
= 20 to 65 dag
5 48 65 to 80 dag
= B0 to 90 deg
a

&
I\r‘

G [ e e e e e e e e e e e e e e e e e e e o e e
43 :

Oz 2, 240 000,00 D=0, 00 000050 Qo:00, 00 Q0 S0 00 0 00,00
37 A8/ 5005 11,/08 /2005 26 /08 73005 1,710,/2005 2610 /2005 1011 75005 25 /11 /2005
Time= [atart of day]

HZC wimr [pprmy] far pressure 1.0 hPa

11 . : T

£ [——a0 tn 50 deg
o e —B0 tn —B5 deg
., =G5 ta —20 deg
m [F-E1-20 ta 20 deg
E 20 to 65 dag

z 65 to A0 deg
= B0 to 90 deg

&

&

00 30L G 00,00 D000, 00 a0 :D0.50 Q500,00 003000 Q00,00
57 /0875005 11,708 /2005 26,468 /9005 11,/710,/2005 26,/10,/2005 10/11,/2008 25 /11 /2005
Tirz [atart of dayv]



Daily averaga [ase titla]

4.5

4.0

sl
tn

Caily averaga [==s title]

03 wmr [ppmy] for pressure 1.0 hPa

............................ :::...

¥

f\ i | fF——ao0 ta —=0 deg
M| bes—20 ta —65 deg

i WO e g8 tg 20 deg
EE1—2C to 20 deg

EHEE EE‘ mﬂlﬂﬂﬂﬁmﬂﬁ 20 to 65 deg

&5 to 80 deg

e : ] ED to 90 deg
s e o

e v

2.0 :

Oz 2, 240 000,00 D=0, 00 000050 Qo:00, 00 Q0 S0 00 0 00,00
37 A8/ 5005 11,/08 /2005 26 /08 73005 1,710,/2005 2610 /2005 1011 75005 25 /11 /2005

Time= [atart of day]
HMOZ wmr [pprav] for pressure 1.0 hPa

00012 ; : ;

00018

0.cons

0.C00E

0,004

0.0002

R

H—+—00C to —E0 deg
[+ —BC to —B5 deg
=05 to =20 deg
FE1-2C to 20 deg
20 to &5 deg
B4 to 30 deg
B0 to 00 deq

D000, 0¢: 00,00 HO:00.00 000050 (500,00
57 08 /5005 11,708 /2005 26,08 /3005 11 /10,2005 26,/10,/5005

Tirz [atart of dayv]

O0:00.00 000,00
10,/11 /2008 25,711 /2005



Caily average [zee title]

CH4 vmr [ppmy] for pressure 1.0 hPa
Cl.ﬁ' g E '

0.4

Caily averaga [==s title]
o
L4

=
fa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deq
EE1—2C to 20 deg
20 to &5 deq
&5 to 80 deg

B0 to 00 deg

0.8 :
Oz 2, 240 000,00 D=0, 00 000050 Qo:00, 00 Q0 S0 00 0 00,00
37 A8/ 5005 11,/08 /2005 26 /08 73005 1,710,/2005 2610 /2005 1011 75005 25 /11 /2005
Time= [atart of day]
MEC vimr [ppryv] far pressure 1.0 hPa
D014 ; : :
0.012

0,010

=]
fu]
[=]
(]

@
fu]
[}
m

D.004

H—+—00C to —E0 deg
[+ —BC to —B5 deg
=05 to =20 deg
FE1-2C to 20 deg
20 to &5 deg
B4 to 30 deg
B0 to 00 deq

0.002 f i :
. _[,__,_-mfx E e >%< $af ol
B i | : ; :
0,008 ' ] ' : '
O 00,0 000,00 BO00.00 000000 500,00 O0:00.00 000,00
57 08 /5005 11,/06 /2005 26,08 /3005 11 /10,2008 26,/10,/2005 10,41 /2005 25,741 /2005

Tirz [atart of dayv]




Caily averaga [ase titla]

MOZ wrar, sun elev==0 [ppmy] for preasure 1.0 hPa

0,0008
(eln 1 Jrl SECCRPEEREEEEDRREERREEEERRES et --------------------------- ---------------------------- e
(1]s00]; ) SECORECEREEEEORREERREEEPRRES et --------------------------- ---------------------------- L
i i ) i § f——00 ta —80 deg
0.0005 S B G e e i e 3 —B0 ta —65 deg
: f : : P +—4—65 to —20 deg
00004 : H : ------------------------- T PP E— PR BE G120 ta 20 deg
3 ' H : H 20 to &5 deq
: : V| G5 to 80 deq
E T P RIN. L, TP ORI o, NSRS | SR T ED to 90 deg
v m t g
= dNRaged SRL Pl 1N : 5
0.2002 ; ¥l R - Pl ﬁ ------ -
0.0001 ---------------------------- DRSS TRRRPL A SRR --------------------------- Bosseenseeensii ---------------------------
0,000 ;
O 00 O 00,00 Q000,00 000,50 00, 00 Q000,00 00 01,800
57 FO8 /2005 11,08 /2005 265,708 /2005 11,/10,/2005 26,510 /2005 10411 /2005 25 /11 /2005

Time= [atart of day]

MOZ wmr, sun elev<Q [ppmy] for pressure 1.0 hPa
o014 : ; :

£0.012

.00

H—+—00C to —E0 deg
[+ —BC to —B5 deg
—=—05 ta =20 deg
FE1-2C to 20 deg
20 to &5 deg
B4 to 30 deg
B0 to 00 deq

L.008

o008

Caily average [zee title]

D.004

o.002
i B % o
4,000 o Akd : =
D500, (600,00 BO00.00 000,50 (00,00 Q000,04 005 00,00
57 /0875005 11,708 /2005 26,468 /9005 11,/710,/2005 26,/10,/2005 10/11,/2008 25 /11 /2005

Tirz [atart of dayv]



F11 wimr [ppmy] for pressure 1.0 hPo

1.0

o] TP ............................. ............................ oo ............................
= [——a0 to —50 deg
oo [ —B0 to —65 dag
B, —B5 to —20 deg
m [F-E1-20 ta 20 deg
o
L 20 to &5 deq
) eccsssesespsesespsesesreth pssspepspspsespsesaspsre S - S S 65 io 0 deg
Sk : : : E0 to 00 deg
&

0.2

0.0 :

O 1, 00 00 a0,00 D000 000,00 800, 00 Q00000 Q00,00
37 A8/ 5005 11,/08 /2005 26 /08 73005 1,710,/2005 2610 /2005 1011 75005 25 /11 /2005

Time= [atart of day]
CLNO wmr [pprmy] for pressure 1.0 RPo

1.0 ; : ; :
% [——a0 tn 50 deg
] = —B0 to —65 dag
., —B5 to —20 deg
m [F-E1-2C to 20 deg
(=2}
= 20 to &5 deg
) eccsssesespsesesesesesreth rssspepspspsespsesespsee SR - S S 65 to 80 deg
ok : : : &0 to 90 deg
&

0.2

0.0 :

Oz 001, 00 (800,00 D000 000000 800, 00 Q00004 000,00
57 A8 /5005 11,/08 /2008 26 /08 73005 11,710,/ 2008 26,/10 /2005 10411 75005 25 /11 /3005

Tirz [atart of dayv]



Caily averaga [ase titla]

a.0012

00018

0.cong

0.C008

0,004

0.0002

MZOE wvmir [pprmv] for pressure 1.0 hPa

R

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
—85 1o —20 deg
EE1—2C to 20 deg
20 to &5 deq
&5 to 80 deg
B0 to 90 deg

00000 :

Oz 2, 240 000,00 D=0, 00 000050 Qo:00, 00 Q0 S0 00
37 A8/ 5005 11,/08 /2005 26 /08 73005 1,710,/2005 2610 /2005 1011 75005

Time= [atart of day]
F12 vmr [ppmy] for pressure 1.0 hPa

1.0 l : : :
% ; | F——o0 ta —E0 deg
] | pE—BO ta -BS deg
., ; : —B5 to —20 deg
& : i | EBB-20 ta 20 deg
(=2} ' '
2 : : 20 to 85 deg
S N | . N N . W { | [88 to 80 deg
ok ' ; : : : 80 to 90 deg
&

0.2

0.0 ;

00z 2, 240 000,00 D000 000000 O8:00, 00 Q0 0L O 000,00
57 A8 /5005 11,/08 /2008 26 /08 73005 11,710,/ 2008 26,/10 /2005 10411 75005 25 /11 /3005

Tirz [atart of dayv]



Caily averaga [ase titla]

0,004

0.0003

a.0002

0,000

R

COFZ wmr [pprv] for pressure 1.0 hPa

H—+—9C to —80 deg
[#—#—BC to —B5 deg

—65 1o —20 deg

FE1-20 to 20 deg

20 to &5 deg

—BS to 80 dag

B0 to 00 deg

0.5001 i

D0: 00,00 00:00,00 00:00,00 00:00.00 (000,00 O0:00,00) 00:00.00
57 /0875005 11,/08 /2005 26,/08 73005 11,/10,/2005 26/10 /2005 10,411 75005 25 /11 /2005

Timz [atart of day]
CCL4 wmr [pprrwv] for pressure 1.0 hPa

1.0 i : ;
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Mumber af successful retrievals vs. ganlecation {#=day side , triangle=night side}.
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Temnperature [K] for pressure 100.0 kPa
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Timz [atart of day]



Tangent altitude [km] for pressure 100.2 hPa
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HZC vrar [pprew] for pressure 1909.0 hPa
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Caily overage [see title]
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CH4 vimr [pprmw] far pressure 100.0 hPa
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Caily everage [see title]
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F11 vmr [pprrv] for pressure 100.0 hPd
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Daily averaga [=se titls]

CLNO wmr [ppmy] for pressure 100.0 kPa
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0.0005 % —B0 to —65 deg
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— [3-E1-20 ta 20 deg
20 to 35 deq
—ES to 30 deq
0.0003 80 to 80 deg
0,0002
0.0001
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Caily everage [see title]
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Daily averaga [=se titls]
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0.0 : i : : : :

O G020 Qs 00,00 AN Q00000 005, a0 0000 ;00,00
57 /08,5005 11,/08 /2005 26 /08 /9005 11,/160,/2005 26,/10 /2005 10,/11,/2008 25 /11 /2005

Timz [atart of day]



F22 vmr [pprrv] for pressure 100.0 hPd

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

O G020 Qs 00,00 AN Q00000 005, a0 0000 ;00,00
57 /08,5005 11,/08 /2005 26 /08 /9005 11,/160,/2005 26,/10 /2005 10,/11,/2008 25 /11 /2005

Timz [atart of day]



Temperature [K] for preasure 10.0 hPa

280

260

240G
£} (90 to —50 deg
- - —B0 to —65 deg
m 230 —B5 to —20 deg
. [F-£1—20 ta 20 deg
Fa 20 to 35 deq
5 220 —— 65 to 0 deg
= &0 to 90 deq
A

710

2005

194 : ; : : : :

D0z 00L00 000,00 D0C000 00;00,00 Q000,00 Q000,00 000,00
57 /085005 11 /08 /2005 26,708 /2005 11 /18,2005 26/10,/2005 10,/11 /3005 25,/11 /3005

Timz [atart of day]




33

Tangent altitude [kmn] for pressure 1000 hPa

0 (90 to —50 deg
= 3 B0 ta —65 deg
o —B5 to —20 deg
. [F-E1-20 tn 20 deg
= 20 to 85 deg
z 10 —— 65 to 0 deg
= &0 to 90 deq
&

28 : : : : : :

D0z 00L00 000,00 D0C000 00;00,00 Q000,00 Q000,00 000,00
27 /0872005 11,/08 /2005 264089 /2005 11,/10,2005 26,/10,/2005 10711 /2008 25 /11 /2005

Timz [atart of day]




H2Z wrnr [pprev] for pressure 190.0 hPa
7.2 : : :

7o

in
¢

£} (90 to —50 deg
- - —B0 to —65 deg
o 6.0 —B5 to —20 deg
m [F-£1—20 ta 20 deg
= 20 to 85 deg
E BB P, « ooy EEEE L e ot T L e e b —B5 to 80 deg
= &0 to 90 deq
a

5.0

4.0 : - : i : ;

D0z 00L00 000,00 D0C000 00;00,00 Q000,00 Q000,00 000,00
57 /085005 11 /08 /2005 26,708 /2005 11 /18,2005 26/10,/2005 10,/11 /3005 25,/11 /3005

Timz [atart of day]




12

O3 winr [ppmy] for pressure 10.0 hPd

+—+—8C to —80 deg
=3 —B0 to —B5 deg

B
o
o —B5 to —20 deg
. [F-E1-20 tn 20 deg
= 20 to 85 deg
z —— 65 to 0 deg
= &0 to 90 deq
a
a ' ' : ' : :

D0-o0.C0 000,00 D00, 00 Q000,50 Q000,00 QI000L 00 00 00,00

27 /0872005 11,/08 /2005 264089 /2005 11,/10,2005 26,/10,/2005 10711 /2008 25 /11 /2005

Timz [atart of day]




Caily overage [see title]

HMO3 wmr [pprry] for pressure 1000 KPa

.009
0.008
0,007
L H—+—00 ta —E0 deg
T % —B0 to —65 deg
0.008 —B5 to —20 deg
[F-E1-20 to 20 deg
: 20 to 85 deg
'::'.I:":I'E:' .E ........................................................ HE I I T T T _Eﬁ tﬂ Eul.l:l I:IEH
: &0 to 90 deg
0.004
o0
4,002 - . . , ! ,
D050, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
7 /08,5005 11,08 /2005 26708 /2005 1,710,/ 2005 26,/10,/2005 10,41 /2008 25 /11 /2005

Timz [atart of day]




CH4 wnr [ppmy] for pressure 10.0 hPa

1.6

1.4

1.2
= (90 to —50 deg
- - —B0 to —65 deg
m 1.0 —B5 to —20 deg
m [F-£1—20 ta 20 deg
2 20 to 35 deq
= 0.8 —— 65 to 0 deg
= &0 to 90 deq
a

0.6

0.4

.2 : ; : : : :

D0z 00L00 000,00 D0C000 00;00,00 Q000,00 Q000,00 000,00
57 /085005 11 /08 /2005 26,708 /2005 11 /18,2005 26/10,/2005 10,/11 /3005 25,/11 /3005

Timz [atart of day]




MNZ2 wrnr [pprev] for pressure 190.0 hPa

0,20 . , : ; ;
D5 [Frmmmmm e e d e mmeemimmeememeememmeemeepesmeemmemeememmmemmem—em———— i-----------------------------;p --------------------------- a.
o § [—+—a0 ta —EO deg
P : i | [#—B0 ta —65 deg
3 : A 5 —65 to 20 dsg
! gy _
e TS S S Y - WO e b b A5 51| [BEI=20 ta 20 deg
o g ) 20 to 85 deq
= i | B8 ta 80 deg
= e : : &0 to 90 deg
& | i
1 e T . S T [L ----------------------------
(KR : : : :
D0 0050 00: 00,00 D0:00.00 000000 (000, 00 D0:00.00 00 00,00
57 f08 2005 11,/08 /2005 26 /08 /2005 11 /10,2005 26,/10 /20085 10,11 /5005 55 /11 /2005

Timz [atart of day]



Caily overage [see title]

MNOZ wrr, sun eleve==0 [ppmy] far pressure 10.0 hPa

0,008
.00y ¥
0,008
[——00 to —&0 deg
% —B0 to —B5 deg
©.005 —B65 to -20 deg
[F-51—20 ta 20 deg
20 to 35 deq
0,004 —FES to 80 deq
&0 to 90 deg
.00z
o002
0,001 i : : : : .
OO0 0L 00 000,00 Q000,00 Q000,50 Q000,00 000,00 A 00,00
27 /082005 11,08 /2005 26,/08 /2005 11,/10,/2005 26,/10 /2005 1011 /2005 25,/11 /2008

Timz [atart of day]




MOZ wrr, sun elev<0 [ppmy] for pressure 10.0 hPd

0,012

010

+—+—8C to —80 deg
=3 —B0 to —B5 deg

=
W 0.008

® —B5 to —20 deg
o [F-51—20 ta 20 deg
= 20 to 35 deq

= o 008 —— 65 to 0 deg
= B0 to 90 deg

&

' : ' : -‘JF ' B
0004 ; ........................................................ .:. ........................................................ . ......................................................... :; .................................................. :
o002 H : : : : '
D0z 0000 O 00,00 D000 000000 Q000,00 D000 00 00,00
7 /08,5005 11,08 /2005 26708 /2005 1,710,/ 2005 26,/10,/2005 10,41 /2008 25 /11 /2005

Timz [atart of day]



Caily everage [see title]

351070

F11 winr [ppmy] far pressure 10.0 hPa

I.ox107?

252107
H——00 to —E0 deg
3(—B0 ta —B5 deg
2.0x107 —65 to —20 deg
[-E1—20C ta 20 deg
20 to 35 deq
15107 ——65 to 80 dag
50 to 00 deg
107078
GRS

o : : : : : :
D000 (¢ 00,40 00,00 (006,50 (00, 00 CEE0, 1 O 00,0
57 08 005 11,/08 /2005 26,08 /2005 1 /10,2005 26,410 /2005 10,11 /5005 25 /411 /2005

Timz [atart of day]



Daily averaga [=se titls]

CLMO wmr [ppmy] for pressure 10.0 hPa

08012
00010
+—+—00 to —B0 deg
00008 4= —BC to —BS deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
(0008 —ES to 30 deq
' B0 to 90 deg
0.o004
02002 H : : : : :
[R]W R A O 00,00 D0, O Q000,00 Q00,00 Q00000 O 00, D
E?fﬂﬂfﬁDﬂE 11fﬂ9f?ﬂ05 F.'E,-"'CIEJ.-’EDEIE 11,-’1‘55.-’20‘3-5 Eﬁf‘llflfﬂﬂlflﬁ 10,-"'11;’20!35 EE;"IL-"'E‘DDE

Timz [atart of day]



Daily averaga [=se titls]

MNZCE vimr [pprmy] far pressure 19.0 hPa

00025
0.0025
H—+—00 ta —E0 deg
0.0015 .| [E—B0 to —BS deg
: —G3 to —20 deg
i | EE-20 ta 20 deg
: 20 to 35 deq
08010 : | —B4 to 80 deg
' g E0 to 90 deq
00005 f
0.0000 : . , . A . X
D050, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
27 /08 /5005 11,/08 /2005 26/08 /2005 1,180,200 26,/10 /2005 10/11 /2005 25 /11 /2005

Timz [atart of day]



Caily everage [see title]

F12 vinr [ppmyv] faor pressure 10.0 hPa

2o 5 mEEEEEEHEEEEFmEEEEEE'

EJ:I-‘-‘H'E'H‘ ............................ i ............................ i ............................ §. ............................ E, ............................ i,l

1.5x107

+—+—8C to —80 deg

4= —BC to —BS deg
—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq
-4

1010 S0 to 90 deg
50107

o . - . ! , .
D008 O¢: 00,00 0500, 00 000,00 (00, 0 000100 (000,010
27 /08,5005 11,08 /2005 26408 /2005 11,/10,/2005 26,410 /2005 10,11 /2005 25 /11 /2005

Timz [atart of day]




Caily everage [see title]

COFZ wmr [pprav] for pressure 10.0 kPa

51074
30x1074
25x107 H—+—00 to —E0 deg
e —B0 to —BS deg
—G3 to —20 deg
P— [F-£1—20 to 20 deg
20 to 35 deq
—ES to 30 deq
50 to 90 deg
1.65x107
10107
NP : : : : : '
D0-o0.C0 000,00 D00, 00 Q000,50 Q000,00 QI000L 00 00 00,00
37 /08,5005 11,708 /2005 26,08 /2005 11,/10,/ 2005 26,/10 /2005 10,11,/ 2008 25,11 /2005

Timz [atart of day]



Caily averaga [eea titla]

201070

1.5%10™0

1.0%1077

B.Ox1ot

—E.0x107"

—1.0:107

D000
57 08 005

CCL4 v [pprov] for pressure

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

11,/08 /2005 26,08 /2005 1 /10,2005

Timz [atart of day]

26,410 /2005 10,11 /5005 25 /411 /2005




HCMH wrr [pprov] for pressure 100 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

O G020 Qs 00,00 AN Q00000 005, a0 0000 ;00,00
57 /08,5005 11,/08 /2005 26 /08 /9005 11,/160,/2005 26,/10 /2005 10,/11,/2008 25 /11 /2005

Timz [atart of day]



F14 vinr [ppmy] for pressure 10.0 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

O G020 Qs 00,00 AN Q00000 005, a0 0000 ;00,00
57 /08,5005 11,/08 /2005 26 /08 /9005 11,/160,/2005 26,/10 /2005 10,/11,/2008 25 /11 /2005

Timz [atart of day]



Caily everage [see title]

F22 vinr [ppmyv] faor pressure 10.0 hPa

1.8:=1074
1.6:107
1.4x107*
. H—+—00 ta —E0 deg
1.2x18 % —B0 to —65 deg
—G3 to —20 deg
R [F-£1—20 to 20 deg
20 to 35 deq
—ES to 30 deq
Bx10S B0 to 90 deg
80100
4.0%1077
NP L : : : : : '
D0-o0.C0 000,00 D00, 00 Q000,50 Q000,00 QI000L 00 00 00,00
37 /08,5005 11708 /2005 26,08 72005 11,710,/ 2005 26/10 /2005 10,11 /2005 25,11 /2005

Timz [atart of day]




Temperdature [K] for pressure 1.0 hPa

200

290

a0
0 (90 to —50 deg
~ 370 3 —B0 tn —65 de
o g
o —B5 to —20 deg
—— (E-E1-20 ta 20 deg
Fa 20 to 35 deq
z —— 65 to 0 deg
= 350 80 to 90 deq
&

245

230

220 : : : : : :

D0z 0000 O 00,00 D000 000000 Q000,00 D000 00 00,00
27 /08,5005 11,/08 /2005 26,/08 /3005 11,/10,2005 26,710 /2005 10711 /2008 25 /11 /2005

Timz [atart of day]




Tangent altitude [km] for pressure 1.0 hPa

ah

4

48
0 (90 to —50 deg
- - —B0 to —65 deg
o 4 —B5 to —20 deg
. [F-E1-20 tn 20 deg
= 20 to 85 deg
= 4B —— 65 to 0 deg
= &0 to 90 deq
&

&
~

q_.:l_ ......................................................... B et e e e e e e Dot ot te s am e ettt g,
D050, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
37 /08,5005 11708 /2005 26,08 72005 11,710,/ 2005 26/10 /2005 10,11 /2005 25,11 /2005

Timz [atart of day]



i

Caily averaqa [eee title]

&

HZC winr [pprmv] for pressure 1.0 hP4d

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

D000
57 08 005

(¢ 00,40
11,/08 /2005

00,00
26,08 /2005

(006,50
1 /10,2005

Timz [atart of day]

(00, 00
26,410 /2005

CEE0, 1
10,11 /5005

O 00,0
25 /411 /2005



4.3

4.0

™
tn

™
[

Daily averaga [=as title]

2.5

2.0

Q3 wmr [ppmy] for pressure 1.0 hPd

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

D000
57 08 005

(¢ 00,40
11,/08 /2005

00,00
26,08 /2005

(006,50
1 /10,2005

Timz [atart of day]

(00, 00
26,410 /2005

CEE0, 1
10,11 /5005

O 00,0
25 /411 /2005



HNOZ wrr [pprov] for pressure 1.0 hPa

08012

00018
= 0.0008 (90 to —50 deg
- - —B0 to —65 deg
o —B5 to —20 deg
® o ooos [F-£1—20 ta 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
& 0.0004

0.0002

0,00 s ; : . : , .

D0z 00L00 000,00 D0C000 00;00,00 Q000,00 Q000,00 000,00
57 /085005 11 /08 /2005 26,708 /2005 11 /18,2005 26/10,/2005 10,/11 /3005 25,/11 /3005

Timz [atart of day]



CH4 winr [ppmy] for pressure 1.0 hPd
0.6 : : :

0.4

+—+—8C to —80 deg
=3 —B0 to —B5 deg

)
»
K3 —B5 to —20 deg
T g3 [E1—-2C to 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
& 0.2

.o : : : ; : :

D050, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
27 /08,5005 11,08 /2005 26408 /2005 11,/10,/2005 26,410 /2005 10,11 /2005 25 /11 /2005

Timz [atart of day]




Caily overage [see title]

0,014

MNZC winr [pprmv] for pressure 1.0 hPd

o2

0,010

+—+—8C to —80 deg
=3 —B0 to —B5 deg

0.008 —B5 to —20 deg
[E1—-2C to 20 deg

20 to 35 deq

Q08 —FES to 80 deq
&0 to 90 deg

l:l_l:":l'l* .....................

'E'.DDE: ............................ ...................... : .................... | ................... % .. : .............. +

H _'_m e . : : E
0,005 : : : : : :
D0z 0000 O 00,00 D000 000000 Q000,00 D000 00 00,00
27 /082005 11,708 /2805 26708 ,/2005 11,/10,/2005 26,/10,/2005 10/11,/2005 25/11 /2005

Timz [atart of day]




Daily averaga [=se titls]

MNOZ wrar, sun elevs==0 [ppmy] for pressure 1.0 hPa

0,0008
02007
0.0008
a0 ta —E0 deg
0.0005 % —B0 to —65 deg
—G3 to —20 deg
— [3-E1-20 ta 20 deg
20 to 35 deq
—ES to 30 deq
0.0003 80 to 80 deg
0,0002
0.0001
0,00045 ; : . : , :
D0z 00L00 000,00 D0C000 00;00,00 Q000,00 Q000,00 000,00
27 /08,5005 11,/08 /2005 26,/08 /3005 11,/10,2005 26,710 /2005 10711 /2008 25 /11 /2005

Timz [atart of day]



Caily overage [see title]

MOZ winr, sun elev<0 [ppmy] for pressure 1.0 hPd

o014 : :
o.012 : : :
e e P 5

E : J e ; |3E|

LN i B [+] EEERRR TR R TR R TR TR R PRI PRI TR . ............................ :. ................... . ........................ : .................... jﬂl

+—+—8C to —80 deg
=3 —B0 to —B5 deg

0.008 —B5 to —20 deg
-2 ta 20 dEg

20 to 35 deq

oL O0E —FES to 80 deq
S0 to 90 deg

Q.04

SR NINE

: e %
4,000 - . P . : .
Dz 0L C2: 00,00 D=0, O Qo080 Q00,00 Q08000 ;00,00
27 /0872005 11,/08 /2005 264089 /2005 11,/10,2005 26,/10,/2005 10711 /2008 25 /11 /2005

Timz [atart of day]




1.0

0.8

=
o=

=
I

Daily averaga [=as title]

0.2

0.0

D000
57 08 005

F11 wmr [pprmyv] for pressure 1.0 hPg

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

11,/08 /2005

AN Q00000 005, a0

26,/08 /2005 11,/10,/2005 26,/10 /2005
Timz [atart of day]

10,11 /5005 25 /411 /2005




1.0

0.8

=
o=

=
I

Daily averaga [=as title]

0.2

0.0

D000
57 08 005

CLNO vmr [pprmy] for pressure 1.0 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

11,/08 /2005

AN Q00000 005, a0

26,/08 /2005 11,/10,/2005 26,/10 /2005
Timz [atart of day]

10,11 /5005 25 /411 /2005




NZOE vimr [pprmw] far pressure 1.0 hPa

0.0012 : i
00070 [--mmmmmsrmmmmme s ennaeenes ---------------------------- ---------------------------- ----------------------------
B 00008 premremrr e """"""""""""""" """""""""""""" frommrrmmrmmmrnn e H—+—00 ta —E0 deg
P 5 : B0 ta —BS deg
o 5 —B5 to —20 deg
o 0.0006 e -.--- R P PP PR PP REEPE PR -. ---------------------- : (120 to 20 deg
o ' E ' : 20 to &5 deq
= 5 —— 65 to 0 deg
= . g E0 to 90 deq
& 00004 El{ll\ 3 bt RLLRLELILLLCE 35
E fr -
00002 |---messrrsmrsansmesnseaeees feosrene s ; % - R 4 LR R T EOCSTIE PR SR SRS 3
\ 1-1% : H
0, 8000 - . . , ! :
D000 000,00 O0:00.00 000,00 (500, 00 000000 003 00,00
27 /08 /5005 11,/08 /2005 26/08 /2005 1,180,200 26,/10 /2005 10/11 /2005 25 /11 /2005

Timz [atart of day]




F12 wmr [pprmyv] for pressure 1.0 hPa

Timz [atart of day]

.0 , . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
= : : (90 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
o 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
N DO S S S OO SO | | 66 ta B0 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
0.0 : . : :
OG0, 100,05 00100, 20 (500, 010 (03 001,10
57 /085005 11 /08 /2005 26,708 /2005 11 /18,2005 26/10,/2005 10,/11 /3005 25,/11 /3005




Caily averaga [=== title]

Q0004

00005

a.0002

0.0001

00000

COFZ wrr [ppriv] for pressure 1.0 hPa

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

B0 to 90 deg

—01,0001 . - : : , :
D000 (¢ 00,40 00,00 (006,50 (00, 00 CEE0, 1 O 00,0
57 08 005 11,/08 /2005 26,08 /2005 1 /10,2005 26,410 /2005 10,11 /5005 25 /411 /2005

Timz [atart of day]




CCL4 wmr [pprov] for pressure 1.0 hPa

Timz [atart of day]

.0 ; . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
= : : (90 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
o 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
N DO S S S OO SO | | 66 ta B0 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
0.0 : . : :
OG0, 100,05 00100, 20 (500, 010 (03 001,10
57 /085005 11 /08 /2005 26,708 /2005 11 /18,2005 26/10,/2005 10,/11 /3005 25,/11 /3005




HCM wrar [pprmv] for pressure 1.0 hPa

Timz [atart of day]

.0 , . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
= : : (90 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
o 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
N DO S S S OO SO | | 66 ta B0 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
0.0 : . : :
OG0, 100,05 00100, 20 (500, 010 (03 001,10
57 /085005 11 /08 /2005 26,708 /2005 11 /18,2005 26/10,/2005 10,/11 /3005 25,/11 /3005




F14 wmr [pprmyv] for pressure 1.0 hPa

Timz [atart of day]

.0 , . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
= : : (90 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
o 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
N DO S S S OO SO | | 66 ta B0 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
0.0 : . : :
OG0, 100,05 00100, 20 (500, 010 (03 001,10
57 /085005 11 /08 /2005 26,708 /2005 11 /18,2005 26/10,/2005 10,/11 /3005 25,/11 /3005




F22 vmr [pprmyv] for pressure 1.0 hPd

Timz [atart of day]

.0 , . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
= : : (90 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
o 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
N DO S S S OO SO | | 66 ta B0 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
0.0 : . : :
OG0, 100,05 00100, 20 (500, 010 (03 001,10
57 /085005 11 /08 /2005 26,708 /2005 11 /18,2005 26/10,/2005 10,/11 /3005 25,/11 /3005
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